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CERTIFICATE IN POULTRY FARMING (CPF) 
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00120 

OLPI-001 : POULTRY HOUSING AND 
MANAGEMENT 

• Time : 2 hours 	 Maximum Marks : 50 

Note: Attempt any five questions. All questions early 
equal marks. 

1. Answer the following : 	 2x5=10 

(a) Why is brooding temperature less than the 
body temperature ? 

(b) Where do we measure brooding temperature ? 

2. Define the following : 	 5x2=10 

(a) Canopy brooder 

(b) Debilling 

(c) Dressing percentage 

(d) Evisceration 

(e) Materials used as litter 
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3. Explain any two of the following : 	 2x5=10 
(a) Cost : Benefit ratio 
(b) Egg drop syndrome 
(c) HDEP 

4. Give the formula for calculation of the 
following : 	 2x5=10 

(a) Feed efficiency per kg egg mass 

(b) Feed efficiency per dozen eggs 

5. (i) Indicate true or false : 	 5x1=5 

(a) 1 m2  is 10000 cm2. 

(b) Body weight of broiler at 40 days of age 
is 2 kg. 

(c) Female duck produces sound known as 
whimpering. 

(d) Good litter material should be heavier 
in weight. 

(e) Quail eggs are also used for pickling. 

(ii) Name the home/native tract of the following 
native breeds of chicken : 	 5x1=5 

(a) Aseel 

(b) Kalasthi 

(c) Miri 

(d) Nicobari 

(e) Punjab Brown 
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6. Describe the following 
	

2x5=10 

(a) Beak Trimming 

(b) Summer Management of Poultry 

7. Write short notes on the following : 	2x5=10 

(a) Cage Layer Fatigue 

(b) Breast Blisters 

8. Write the importance of supplementary feeding 
and night shelter in backyard poultry farming. 	10 
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